Calculus with Applications Summer Review Packet

This packet is a review of the material you should know as you enter Calculus with Applications.
This will not be due on any specific date. However, the material covered on this review
will most likely show up on a Chapter 1 assessment.

1. Simplify. Show work that leads to your answer.
x—4 x3-8 5—x
a) ——— . C.
) x2-3x—4 x=2 x2-25

2. Trigonometric Pythagorean Identities:

a) 9]
b)

3. Simplify each expression. Write answers with positive exponents, where applicable:
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4. Solve forz: 4x + 10yz — 3 = 5w + 6xz

5. Given: f(x) ={(3,5),(2,4),(1,7)} glx)=+x-3 h(x) =x2+5 find (simplified):
a) h(g(x)) b) g(h(=2)) o f'(x
d) tofind g~1(x), you . Fill in the blank, then find g~ (x)

6. Expand and simplify:
5
z (Bn—6)
n=2

7. Write an equation for the lines described below. Use the point-slope form: y — y; = m(x — x;)
Show all work.
a) With slope -2, containing the point (3, 4)
b) Containing the points (1, -3) and (-5, 2)
¢) With slope 0, containing the point (4, 2)
d) Parallel to 2x — 3y = 7 and passes through (5, 1)
e) Perpendicular to the line in problem 7a, containing the point (3, 4)



8. Without a calculator, determine the exact value of each expression:

. .3 7
a) smg b) San C) coST d) cos?”
7 2
e) cosg f) tanTn g) tan?n h) tan%
. T . 51 2n 3m
i) cscs ) sec— k) cot— 1) sec—

9. For each function: Make a neat graph. This means labeling your axes with scale, showing at least 3 points.
Name the Doman and Range. For the problems with asymptotes, name and graph those asymptotes.

a) y=sinx e) y=Inx ) y=3VYx

b) y=x3—-2x%—-3x ) y=e* D y=|x+3]-2

c) y=x?—-6x+1 2) y=% k) y=+vVx—4
— xt4 _ xio4 — /%2

Q) y=22 hy y=I2 D y=vx?+4

10. Make a neat sketch of the following piecewise function:

x%, ifx<0
f)=[x+2 if0<x<3
4, ifx>3

11. Solve for x, where x is a real number. Show the work which leads to your solution:

a) 2x2+5x=3 d) logx+log(x—3)=1 g 12x?=3x
b) (x—5)2=9 e) |x—3/<7 h) 272% =93
) (x+3)(x=3)>0 f) Inx=2t-3 i) x2—-2x—15<0

12. Determine all points of intersection:
a) Parabolay = x? + 3x — 4 and the liney = 5x + 11
b) The functions y = cos x and y = sin x, in the first quadrant

13. Simplify the following complex fractions:
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b) —F—=— d) 5x 3

x+1 x2-2x-3 3x—9 x-3



